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Attempt all questions. First question is for
14 marks and the rest three (Question 2, 3 and
4) are for 12 marks each. Use of simple
calculator is allowed. Log tables and other
tables shall be provided on demand.
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Which average is based on all the observations? (2)

If mean is 79 and variance is 64, calculate the
value of Coefficient of variation (C.V). (4)

Find the geometric mean of 16 and 36. (4)

The correlation coefficient between X and Y is
0.90 and the regression coefficient b, is -1.
Comment. (4)

FH-T ad a0 YuoN W smafa 27

AR WA 79 IR T 64 B D VW [ONF F T4
RRewfera @

16 3R 36 = FRAT WA T Few

X 3R Y ¥ wegay nE 090 2 I wIEw o -
bay, —1 21 Rt i

From the following information, calculate the value
of N, the number of pairs of observations:

r= 0.8, Zxv = 60, 6, = 2.5 and Ix’ = 90

Where x and v are the deviations from the
respective means. (4)

A gyncecologist records the blood pressures of
her patients and collected the Tollowing data:

Age (in years): 23(24(25(26(28129|31 [35]40

Lower limit of BP: |65 {6062 [70]70]73{75 |83/90
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Calculate the two regression equations. Also

estimate the BP if the age of the patient is 38

years. (8)
OR

The mean of marks in Statistics of 100 students
in a class was 72. The mean of marks of boys
was 75, while their number was 70. Find out the
mean marks of girls in the class. (4)

Calculate coefficient of correlation from the
following data and comment.

Experience(X): 16112118 4| 3 {10f5 {12

Performance(Y): |23122(24117| 19 20| 18| 2]

(8)
Prferfir aoenal A N &1 aF, Jemil & Sid A v,
T qREeT
r= 0.8, Ex\. = 60, 0’y = 2.5 W sx2 =90
et x ot y waw wea @ 21
WMWWWNMW#%
Pl st T w8

7 (@@ ¥): |23 [24[25|26/28]2931|35/40

R -2@| it 65160162170170(73{75|83 90
s dm:
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A T FhEON W oReew Awfag @ #f
whr-zm @ s wee AR A 38w F; A

Jaal

TF HE A 100 D B et ¥ urarE w1 WA 72
| HIH & WS e 75 IR vl I s@mn 70
4 wen ¥ WA @ e mA w@ AE A

Pt s @ weqay TonE w1 wRaaw Fifow
fomit i
I (X): |16 (12{18| 4| 3] 10| 5 |12

e (Y): |23 [22(24 (17 {19]{ 20| 18] 21

State two major differences between correlation
and regression analysis. (4)

For the data given below, find the missing
frequency if the arithmetic mean is Rs. 33. Also
find the median of the series.

Loss per shop(Rs.)| 0-10]10-20{ 20-30{ 30-40{ 40-50 | 50-60

Frequency 10 [IS |30 - 25 20

(a)

(8)
OR

Distinguish between positive and negative
correlation. (4)
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(b) A worker in the city of Patna earns Rs. 10,000
per month. The cost of living index for the month
of January, 2011 is 160. Using the following data
find out the amount that he spends on (1) Food
and (2) Rent, if it is presumed that he spends all
his income on the following heads only:

Group Expenditure Group Index
Food ? 190
Clothing 4500 181
Rent ? 140
Fuel 2000 118
Miscellaneous | 1000 101
(8)
(%) avEay sk T Ry ¥ 2 g F9 = I
Fiforg
(@) M Re M A ¥ g angfy A o wfrg
A 33 B sfEen @ AT N T B
i fd W (%) [0-10]10-20]20-30 |3040]40-50 | 50.60
mgfer 10 {15 {30 25 |20
G ]

(%) warems IR wTevE wewau A FR gaRw
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(@) g W W & HAA 10,000 T 9 W AT Fa
B FER 201 B AW F M FEHE F A 160
? Frfafm siewsl @1 vam o 7w 2w & =
(i) @ (i) o w fradt oftt = @ 2 aR
T W oA awht vl s dww Rl Wil

W @ 2

i i hik G S
eI ? 190

g 4500 181

o ? 140

U 2000 118

fafdu 1000 101

4. (a) A cyclist pedals from his house to his college at
a speed of 10 km. per hour and back from the
college to his house at 15 km per hour. Find the
average speed. (4)

(b) From the following information regarding annual
profits in a business, find:

(i) The trend values of profit for the given years
(assuming a linear trend).

(i) The trend eliminated profits for the given
years (using additive model).
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(iii) The estimated profits for the year 2017
(presuming the same trend to follow).

(iv) The average annual increase or decrease in

profits.
Year 2008|2009 {2010 | 2011 | 2012 {2013 | 2014
Profit 80 |95 [120 | 150 |130 |125 }200
(*000 Rupecs)

(8)
OR

(a) Which average is called the best average and
why? (4)

(b) From the following data, calculate the chain base
index numbers taking 2006 as the base year:

Price in Rs.
ltems | 2006 | 2007 | 2008 | 2009| 2010
A 5 8 10 12 15
B 3 6 8 10 12
C 2 3 5 7 10
(8)

(%) wmﬁmmwﬁrﬁqﬁl@ﬁm%aﬁw
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15 R o W A W A B st uIe A e
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(i) Y gafty waw e T ad @ fow aw A wyfe
=
(i) Aot Aizar o wAT w0 g T AW B e wgf
frofea = =
(iii) =¥ 2017 % forx g ww (aw w6 @@

wfe o= @ 2))

(iv) ok ¥ shea aftfs @Qad s e

g

2008

2009

2010

2011

2012

2013]2014

L
(FmY )

80

95

120

150

130

125 | 200

roran
(F) #-3 shaw wt wdiem stwa Fo1 9= 2 3R N7

(@) PR siws A yaen smnfs gowis o1 Ree
Ffw 2006 = IR wfAY?

AT T A
oEgeH | 2006 | 2007 | 2008 2009 | 2010
A 5 8 10 12 15
B 3 6 8 10 12
C 2 3 5 7 10

(45,000)




